
VariablesAléatoiresàValeursdans
R

Le
on
eptdevariablealéatoireintroduite
ommeuneappli
ation
Xdel'espa
edis
retdesévénementsdans

Rsegénéralisepourun

espa
eprobabilisé

(Ω
,A

,P
r
)quel
onque.Ilfauttoutefoisqu'onpuisse

dé�nir,pourtoutborélien

B
∈
B,

P
r
(B

).Or,
e
in'estpossibleque

si{
X

∈
B
}
=

X
−
1
(B

)appartientà

A:

Dé�nition.Soit

(Ω
,A

,P
r
)unespa
eprobabiliséquel
onque.Une

appli
ation

Xde

Ωdans

Restunevariablealéatoire(v.a.)si,pour

tout

B
∈

B,

X
−
1
(B

)
∈

A.

Nousadmettonslapropositionsuivante:

1

Proposition.Uneappli
ation

Xde

Ωdans

Restunev.a.sur

(Ω
,A

,P
r
)

ssi
X

−
1
(]−

∞
,x

])
=

{
X

≤
x}

∈
A.

Dé�nition.Onappellefon
tionderépartition(f.r.)

Fdelev.a.

Xla

f.r.delaloideprobabilitéde
X:

F
(t)

=
P

r
(X

≤
t),

∀
t∈

R
.

Exemple.Soitleréel
Uuniformémentgénérédansl'intervalle

[0
,2

].

Ondé�nitl'appli
ation
Xpar

X
(u

)
=

u
2.Étudier

Xetendonnerla

f.r.,s'ils'agitd'unev.a.

2

Solution.L'espa
eprobabiliséinitialest

(

[0
,2

],B
[0

,2
] ,P

r
),où

B
[0

,2
]

estlatribudesboréliens
ontenusdans

[0
,2

]et

P
rlamesurede

probabilitéquiasso
ieà
haquesous-intervallede

[0
,2

]lamoitiéde

salongueur.Laf.r.de

Uestdonnéepar:

F
U
(t)

=



0si

t
<

0
t2 si

0
≤

t
<

2

1si

t≥
2
.

L'appli
ation
Xestbienunev.a.,puisquel'imageinversed'unsous-

intervalle
〈a

,b〉de
[0

,4
]par

Xestlesous-intervalle

〈 √
a
, √

b〉de

[0
,2

],

quiestunborélien.

Pour
al
ulerlef.r.de
X,nousremarquonsd'abordque

F
X
(x

)vaut

0pour
x

<
0et

1pour
x
≥

4.Sesvaleursnontrivialessontobtenues

pour
0
≤

x
≤

4.

3

Soit

x
∈

[0
,4

].Nousavons:

F
X
(x

)
=

P
r
(X

≤
x
)
=

P
r
(U

≤
√

x
)
=

F
U
( √

x
)
=

√
x
/
2
.

D'où:

F
X
(x

)
=



0si

x
<

0
√

x2 si

0
≤

x
<

4

1si

x
≥

4
.
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ProbabilitéConditionnelle

Le
on
eptde
onditionnementintroduitpourlesespa
esdis
rets

s'étendsansdi�
ultéauxespa
esquel
onques

Dé�nitions.Soit
(Ω

,A
,P

r
)unespa
eprobabiliséetsoit

A
∈

Ade

probabiliténonnulle.Ondé�nituneappli
ation

P
r
(./A

)de

Adans

[0
,1

],par:

P
r
(B

/A
)
=

P
r
(A

∩
B

)

P
r
(A

)
,

∀
B

∈
A

.

Elleestappeléeprobabilité
onditionnellesa
hant

A.Lenombre

P
r
(B

/A
)

estappeléprobabilité
onditionnellede
Bsa
hant

A.

Ondémontrefa
ilementqueletriplet
(Ω

,A
,P

r
(./A

))estunespa
e

probabilisé.Ilestappeléespa
eprobabilisé
onditionnépar

A.6

Onremarqueaussiquelaprobabilitéd'uneinterse
tionpeuts'é
rire

entermesdeprobabilité
onditionnelle:

P
r
(A

∩
B

)
=

P
r
(A

)P
r
(B

/A
)
.

Onditalorsquel'onae�e
tuéun
onditionnement.

Ondémontreaussifa
ilementlapropositionsuivante.

Proposition.Soit

A
1
,A

2
,...,A

n unepartitionde

Ωdans

A,telleque

P
r
(A

i )
6=

0
,i

=
1
,...,n.Alors,pourtout

B
∈
A,ona:

P
r
(B

)
=

n∑

i=
1

P
r
(A

i )P
r
(B

/A
i ).

Ladé�nitiond'indépendan
epourlesévénementsd'unespa
egéné-

raliséesttoutàfaitidentiqueà
elled'unespa
edis
ret.
7

Indépendan
e

Soit

(Ω
,A

,P
r
)unespa
eprobabilisé.Onpeutdé�nirunve
teuraléa-

toire(ouunevariablealéatoireàvaleursdans

R
k)
ommeuneappli-


ationde

Ωdans

R
ktelleque,pourtout

B
∈

B
k ,{

X
∈

B
}

=
X

−
1
(B

)

soitdans

A.
Si

Xestunev.a.àvaleursdans

R
ksurl'espa
e

(Ω
,A

,P
r
),Onpeut

munir

(
R

k
,B

k
)delamesuredeprobabilitéquiasso
ieàtout

B
∈
B

k ,

P
r
({

X
∈

B
}
).

Lapropositionsuivantepermetderéduirelavéri�
ationdelapropriété

d'appartenan
eà

Aauximagesinversesdespavés.
8



Proposition.Uneappli
ation

Xde

Ωdans

R
kestunev.a.ssi,pour

tout

x
∈

R
k,{

X
≤

x}
∈
A.

Dans
e
as,onpeutdé�nirlafon
tionderépartitionduve
teur
X

par:

F
(x

)
=

F
(x

1
,...,x

k
)
=

P
r
( X

≤
(x

1
,...,x

k
)) .

Sil'onpose

X
=

(X
1
,...,X

k
),onaura:

P
r
(X

1
≤

x
1
,...,X

k
≤

x
k
)
=

F
(x

1
,...,x

k
).

Dé�nition.Soit

X
=

(X
1
,...,X

k
)unev.a.dé�niesur

(Ω
,A

,P
r
).Les

v.a.

X
1
,...,X

k sontditesindépendantes,sipourtout

B
1
,...,B

n
∈

B:

P
r
( X

1
∈

B
1
,...,X

k
∈

B
k
)
=

k∏1

P
r
(X

i ∈
B

i ).

9

Dé�nition.Si
F
(x

1
,...,x

k
)estlaf.r.,lafon
tionderépartitionmar-

ginale
F

i (x
i ),i

=
1
,...,k,est

lim
x

j →
∞

,∀
j6=

i
F
(x

1
,...,x

k
).

Nousadmettonslesdeuxpropositionssuivantes.

Proposition.Lesv.a.
X

1
,...,X

k sontindépendantes,ssi:

F
(x

1
,...,x

k
)
=

k∏1

F
i (x

i ).

Proposition.Soient
X

1
,...,X

k desv.a.indépendantesréelles.Soient

ϕ
1
,...,ϕ

k desappli
ationsréelles.Alorslesv.a.
ϕ
1
(X

1
),...,ϕ

k
(X

k
)sont

desv.a.indépendantes.

Cettepropositionestimportante.Elle
on�rmeene�etl'idéeintuitive

quelestransformationsdesv.a.indépendantespréserventl'indépen-

dan
edesvariables.

10

Danslasuite,noussupposeronsquelesv.a.nondis
rtètesadmettent

unedensité.Cettehypothèsepermetdesimpli�erles
al
ulsentermes

d'intégralesdeRiemann,dontla
onnaissan
eestsupposéeêtrea
-

quiseen
lasseterminale.Sinon,unerévisionestvivement
onseillée!

Espéran
edesv.a.Continues

Ladensitéd'unev.a.

X
=

(X
1
,...,X

k
)
∈

R
k,lorsqu'elleexiste,estla

fon
tion
f
(t1

,...,tk
)telleque,pourtout

,x
1
,...,x

k
∈

R:

F
(x

1
,...,x

k
)
=

∫

x
k

−
∞

...
∫

x
1

−
∞

f
(t1

,...,tk
)d

t1
...d

tk
.

Notonstoutdesuitequ'ondoitavoir:

∫

∞−
∞

...
∫

∞−
∞

f
(t1

,...,tk
)d

t1
...d

tk
=

1
.
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Dé�nitions

•(v.a.positives)Soit

Xunev.a.àvaleursdans

R
+,admettantla

densité

f.Sonespéran
eestdé�niepar:

E
X

=
∫

∞−
∞

x
f
(x

)d
x
,

sil'intégrale
onverge.Siellediverge,onditque

Xn'admetpas

d'espéran
e.

•(v.a.designequel
onque)Soit

Xunev.a.réelle.Dé
ompo-

sons

Xenpartiepositiveetpartienégative:

X
=

X
+

−
X

−,ave


X
+

=
m

a
x{

X
,0}et

X
−

=
−

m
in{

X
,0}

.Si

X
+et

X
−admettent

toutesdeuxuneespéran
e,onditque

Xadmetl'epéran
e:

E
X

=
E

X
+

−
E

X
−

.

Sinon,onditque

Xn'admetpasd'espéran
e.
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QuelquesExemples

Exemple1(LoiUniforme).Soitlav.a.

Xuniformémentrépartie

dans

[a
,b],ave


a
<

b.Elleadmetladensité:

f
(x

)
=



0si

x
<

a
1

b−
a si

a
≤

x
<

b

0si

x
≥

b.

Nousavons:E
X

=

∫

ba

x

b−
a
d
x

=

[

x
2

2
(b−

a
)

]

ba

=
b
2
−

a
2

2
(b−

a
)

=
b
+

a

2
.13

Ilestànoterqu'onpeut
al
ulerl'espéran
edetoutev.a.dela

forme
ϕ
(X

)paruneintégrationsimilaire.Parexemplel'espéran
ede

X
2vaut:E

X
2

=

∫

ba

x
2

b−
a
d
x

=

[

x
3

3
(b−

a
)

]

ba

=
b
3
−

a
3

3
(b−

a
)

=
b
2
+

a
2
+

a
b

3
.

Exemple2(LoiNormale).Ladistributionquenousallonsintroduire

aunr�le
entralenstatistique.Elleestappeléeaussiloigaussienne

ouloideLapla
e-Gauss .Elleintervientene�etdanslamodélisation

probabilisted'unnombredegrandeursphysiquesobservéeungrand

nombredefois.

14

Soit

Xunev.a.réelle.Onditque

Xsuituneloinormaledeparamètres

met

σ,sielleadmetladensité:

f
(x

)
=

1

σ √
2
π

e
x
p

(−
(x

−
m

)
2

2
σ
2

)

,
x
∈

R
.

Ilestd'usagedenoterunetelledistributionpar

N
(m

,σ
).

Pourprouverqu'ils'agitd'unedensité,ilfautmontrerque

∫∞−
∞

f
(x

)d
x

=
1.

Pour
efaire,onintroduitd'abordle
hangementdevariable

y
=

x−
m

√
2
σ .

Ensuitel'appli
ationdel'équation:

∫

∞−
∞

e −
y
2d

y
=

√
π

permetde
on�rmerl'identitésouhaitée.
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G
auss et sa courbe
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Exemple3(LoideCau
hy).LadistributiondeCau
hyestdonnée

parsadensité:

f
(x

)
=

1π

1

1
+

x
2
,

x
∈

R
.

Ondémontrefa
ilement:

F
(t)

=
P

r
(X

≤
t)

=
12

+
A

r
cta

n
(t)

π
,

t∈
R

.

Cequifournit
omme
orollaire

∫∞−
∞

=
1.
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C
om

paraison de la densité de la loi de C
auchy et de la norm
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